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QUESTION 1

Click the Exhibit button.

user@router# show interfaces ge-0/0/1
description “Customer Port”;
flexible-vlan-tagging;
native—-vlan-id 150;
encapsulation extended-vlian-bridge;
unit 10 {
vlan-id-list 100-200;
input—-vlan—map push;
output—vlan-map poE:;
}
user@router# show interfaces xe-0/0/48
description “Uplink Port”;
vlan-tagging;
unit 10 {
vlan—-id 10;

ucerfrouter# show wlane w10
interface ge-0/0/1.10;
interface xe-0/0/48.10;

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? (Choose two.)
A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 150.

B. The C-VLANs 100-200 will be sent as the inner VLAN tag.

C. The C-VLAN 150 will be sent as the inner VLAN tag.

D. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10.

Correct Answer: BD

QUESTION 2

Click the Exhibit button.
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[édit interfaces] [edit interfaces]
user@As-1% show user@As-2¢ show
ge=0/0/1 { ge-0/0/1 {
unit 0 { unit 0 {
family ethernet-switching ({ family ethernet-switching {
interface-mode trunk: interface-mode trunk;
wvlan { vlan {
membars-vlian-pri members-vlian-pri
} ¥
} }
} ]
} }
ge-0/0/6 { ge-0/0/6 {
unit 0 { unitc 0 {
family ethernet-switching { family ethernet-switching {
interface-mode access: interface-mode access;
vlan { vlian {
membars hr; members hr;
} ¥
} ¥
) }
¥ }
ge-0/0/7 { ge-0/0/7 {
unit 0 { unit 0 {
family ethernet-switching { family ethernet-switching {
interface-mode access; interface-mode access;
vlan { vlan {
members executive; members executive;
} ¥
¥ }
} ¥
¥ }
[edit wlans] ge-0/0/10 {
user@AsS-1§# show vlan unit 0 {
vlian-pri { family ethernet-switching {
vian-id 100; interface-mode turnk:
community-vlans [ executive hr ]: vlan {
} members vlan-pri;
executive { }
vlan-id 207 }
private-vlan community: ¥
¥ }
hr {
vlan-id 10; [edit vlans]
private-vlan community; userBAs-24 show vlan
} vlian-pri {
vlan-id 100;
community-vlans [ executive hr ];
}
axacutive |

vlan-id 20;
private-vlan community;
}
hr {
vlian-id 10;
private-vlan community;

Latest INO-648 Dumps | JN0-648 Study Guide | JNO-648 Exam Questions


https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html

. VCE & PDF https://www.pass4itsure.com/jn0-648.html
E 2024 Latest passditsure JN0-648 PDF and VCE dumps Download

PassditSure.com

You recently implemented the configuration shown in the exhibit. After committing these changes, the community
devices connected to AS-1 are not able to communicate with the appropriate community devices connected to AS-2.

What must be done to allow these community devices to communicate?

A. You must configure an isolation VLAN ID under the vlan-pri VLAN on the AS-2 switch.
B. You must configure the ge-0/0/10 interface on AS-1 as the inter-switch link

C. You must configure the ge-0/0/1 interface on both switches as the inter-switch links.
D. You must configure an isolation VLAN ID under the vlan-pri VLAN on both switches.

Correct Answer: C

QUESTION 3

Your network has Junos Fusion configured with MX960 routers as aggregation devices (AD) and QFX5100 switches as
satellite devices (SD).

Which two statements are correct in this scenario? (Choose two.)

A. All SDs connected to a single AD must use the same software version.
B. SDs are added to the AD by configuring the cascade port on the AD.
C. The Fusion extended ports are configured on the SDs.

D. The AD runs the Junos software for all its connected SDs.

Correct Answer: BC

QUESTION 4

Click the Exhibit button.

—mm Local Preference

ISP-A 100 200 1

ISP-B 3000 1500 50 100 E
ISP-C 5000 4000 50 100 ?
ISP-D 1000 7000 20 100 !

You receive the same 75.100.0.0/16 route from all four ISPs to which you are connected. Referring to the exhibit, which
ISP\\'s route will be selected as active?
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A. ISP-D
B. ISP-C
C.ISP-B
D. ISP-A

Correct Answer: A

QUESTION 5

Click the Exhibit button.
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[edit class-of-service]
user@sSRX# show
classifiers {
dscp ent-standard ({
import default;
forwarding-class expedited-forwarding {
loss-priority high code-points 101111;

}
}
interfaces |{
ge—-* {
unit 0 {
classifiers {
dscp ent-standard;
}
}
}
}

[edit firewall]
user@sSRX# show
family ethernet-switching {
filter classify-voice {
term 1 {
from {
forwarding—class expedited-forwarding;
}
then {
accept;
policer rate-limit-ef;

}

term 2 {
then accept:

}
policer rate-limit-ef {
if-exceeding {
bandwidth-limit 10m;
burst-size-limit 25k;
}

then forwarding-class best-effort;
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You are implementing CoS for a custom application that is labeling its packets with DSCP code-point 101111. You have
applied the configuration shown in the exhibit, but note that while some custom application traffic ingressing on ge-0/0/1
transits the SRX Series device successfully, packets ingressing all other ge-* interfaces are being dropped.

Which action should you take to solve this problem?

A. Apply the rate-limit-efpolicer to all ge- interfaces.

B. Remove the BA classifier from all ge- interfaces.

C. Configure a scheduler and scheduler map for expedited-forwarding and apply to all interfaces.

D. Modify the BA classifier to assign code point 101111 to loss priority low.

Correct Answer: D
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